BYT B1.3NP — 2+KK — A=67.71m’
Byt 57.68m?, Terasa 10.03m’
Kéje k bytu B1.3 — 2.35m”?

Parkovaci stani P3 — 2.5x5.0m
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BYT B2.3NP — 2+KK — A=58.31m’
Byt 46.80m?, Terasa 11.51m?
Kéje k bytu B2.3 — 2.90m”*

Parkovaci stani P6 — 2.5x5.0m

BYT B3.3NP — 2+KK — A=67.71m’
Byt 57.68m?, Terasa 10.03m’
Kéje k bytu B3.3 — 2.35m?

Parkovaci stani P9 — 2.5x5.0m
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STRESNI NASTAVBA K BYTU B1.3NP  — A=77.59m’ STRESNI NASTAVBA K BYTU B2.3NP - A=67.06m’ STRESNI NASTAVBA K BYTU B3.3NP - A=77.59m’

Byt 50.74m?, Terasa 26.85m’ Byt 43.28m?, Terasa 23.78m’ Byt 50.74m?, Terasa 26.85m’



